






Select the option that is related to the third number 
in the same way as the second number is related to 
the first number. 
उस विकल्प का चयन करें जो तीसरी सं ख्या सेउसी तरह

सं बं वित है जैसे दसरी  ू सं ख्या पहली सं ख्या सेसं बं वित

है।

12 : 68 : 21 : ?

(A) 49 (B) 117 (C) 119 (D) 79



Select the option that will come next in the following 
series.
उस विकल्प का चयन करें जो वनम्नवलखित शंख्र ला

मेंअगला पद होगा।

BOP, DPN, FQL, HRJ, ? 

(A) JSH (B) JSI (C) ISH (D) ITI



Select the term that will come next in the following series. 
उस पद का चयन करें जो वनम्नवलखित शंख्र ला मेंअगला आयेगा।

0, 3, 4, 5, 6, 9, 10, 11, 12, 15, ?

(A) 16 (B) 17 (C) 14 (D) 18



Select the Venn diagram that best represents the relationship 
among the given set of classes. 

Students, Teachers, School / छात्र, विक्षक, स्क ल



Select the word pair in which the two words are related in the 
same way as the two words in the following word-pair. 

Season: Winter / ऋत:  ू सदद

(A)Week : Calendar /सप्ताह: कै लेंडर

(B) Summer : Autumn /ग्रीष्म: िरद ऋत

(C) Year: Century / िर्द: सेंचरी
(D) Month : April /माह: अपै्रल



Which letter will replace the question mark (?) in the following 
series? 
वनम्नवलखित शंख्र ला में प्रश्निाचक वचन्ह (?) केस्थान पर कौन-सा अक्षर

आएगा?

A, B, E, J, Q,?

(A) A (B) Y (C) X (D) Z



A piece of paper is folded and punched as shown below in the question 
figures. From the given answer figures, indicate how it will appear when 
opened? नीचेवदए गए प्रश्न मेंकागज केएक ट कडे को वदिाया गया है वजसे

मोडकर छेद वकया गया है। वदए गएउत्तर आकृवत मेंसेउसेइवगं त करें जो

िोलने पर प्रश्न आकृवत ज ूैसा वदिाई देगा?



‘China’ is related to “Yuan’ in the same way as Japan’ is related 
to______. 

(A) Rand (B) Sushi (C) Lira (D) Yen

'चीन'का सं बं ि 'यआन'  ू सेउसी तरहहै जैसे'जापान'का '________' सेसं बं

वित है।

(A) रैंड (B) सि ी (C) लीरा (D) येन





If EAGER is coded as 51759 then how will CADET be coded? 
यवद EAGER को 51759 के रूप मेंकोवडत वकया जाता हैतो CADET को कै
सेकोवडत वकया जाएगा?

(A) 31452 (B) 34157 (C) 31542 (D) 31453



. If J = 10 and JAM = 130, then JAR = ? 

(A) 170 (B) 140 (C) 150 (D) 180



In a certain code, ‘GRAPH’ is written as ‘JUZSK’. How is ‘CARE’ written in 
that code? 
एक वनवित कोड में, 'GRAPH' को 'JUZSK' वलिा जाता है।उसी कोड में'CARE' 
कै से वलिा जाता है?

(A) FZTO (B) FZUU (C) FZZD (D) FZUD



Saksham introduced Nidhi to his friend, “She is the daughter of the only 
son of my father’s wife.” How is Saksham related to Nidhi? 
सक्षम ने वनवि को अपने दोस्त से वमलिाया, "िह मेरे वपता की पत्नी केइकलौते

पत्र की पत्री  ू है।" सक्षम, वनवि सेकै सेसं बं वित है?

(A) Son (B) Cousin (C) Father (D) Brother



Satish is 9 ranks ahead of Ajay in the class of 39 students. If Ajay’s rank 
is 15th from the last, then what is Satish’s rank from the start?
39 छात्रों की कक्षा मेंसतीि अजय से9रैंक आगेहै। यवद अजय की रैंक अतं

से15 िी ं है, तो सतीि की रैंक प्रारं भ सेक्या है? 

(A)18िी ं (B)14िी ं (C)24िी ं (D)16िी



What will come in the place of question mark? 

1440, 240, 48, ?, 4, 2 

(A) 4 (B) 6 (C) 3 (D) 12



Select the option that is related to the third term in the same way as 
the second term is related to the first term. 
उस विकल्प का चयन करें जो तीसरे पद सेउसी प्रकार सं बं वित है जैसे दसर  ू

ूा पद पहले पद सेसं बं वित है।

BUCKET : DSEIGR :: BONUS : ? 

(A) DPMSU (B) DMSPU (C) DMPSU (D) DSPUM



Select the option that is related to the third term in the same way as 
the second term is related to the first term. 
उस विकल्प का चयन करें जो तीसरे पद सेउसी प्रकार सं बं वित है जैसे दसर  ू

ूा पद पहले पद सेसं बं वित है।

BDHP : CFJT :: PHDB : ? 

(A) BSWN (B) HWSH (C) HSWH (D) QJFF



Select the option that is related to the third term in the same way as 
the second term is related to the first term. 
उस विकल्प का चयन करें जो तीसरे पद सेउसी प्रकार सं बं वित है जैसे दसर  ू

ूा पद पहले पद सेसं बं वित है।

Jasmine : White :: Sunflower : ? 

(A)Indigo (B) Yellow (C) Violet (D) Pink

चमेली: सफेद :: सर  ू जमि ूी:? 

(A) इवडं गो (B) पीला (C) बैंगनी (D) गल ाबी



Six people have different heights. U is the tallest one. P is taller than R, 
who is shorter than S. Q is shorter than R, but taller than T. Who is 
shortest one? 
छह लोगों की अलग-अलग लं बाई हैं। U सबसेलं बा है। P, R से लं बा है, जो S 
सेछोटा है। Q, R सेछोटा है, लेवकन T सेलं बा है। सबसेछोटा कौन है?

(A) Q (B) S (C) P (D) T



Statements: 
Some dawn are night. / क छ प्रभात रात हैं।

No night is a noon. / कोई रात दोपहर है।
No dawn is a dusk. / कोई प्रभात सां झ नही ं हैं।

Conclusions:
I. Some dusk are night. / क छ सां झ रात हैं।

II. Some noon are dawn. / क छ दोपहर प्रभात हैं।



Pick the odd one out.
विर्म ज्ञात कीवजए।

(A)POWZ 
(B) KNQT 
(C) FILO 
(D)QTWZ



Pick the odd one out.
विर्म ज्ञात कीवजए।

(A) 56 : 49 (B) 64 : 54   (C) 104 : 91 (D) 32 : 28



Pick the odd one out.
विर्म ज्ञात कीवजए।

(A)Big (B) Expensive (C) Costly (D) Valuable
(A) बडा (B) कीमती (C) महगं ूा (D) मल ू्यिान



Which two signs should be interchanged in the following equation to 
make it correct? 
वनम्नवलखित समीकरण को सही बनानेके वलए वकन दो वचन्हों का परस्पर

बदलाि होना चावहए?

8 x 2 +5 - 16 ÷ 4 = 14 

(A)+ and –
(B) + and ×
(C) ÷ and ×
(D)÷ and +


